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TRANSPORTATION ENGINEERING

fratfa e 39 [STRaH 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
Fe: () TA-FAATIFAG TG HE

Note : There are THREE sections A, B and C in the paper.

(i) QAT FIT G F FH 10 Y7 3 IR HT | TEF 5T T b HE T
& 10 5777 TGHE TPR F T 8 | |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions. '

(iii) BFT & & 8 FA 4 @ 51 6 1 F IR 0T | IeIH T 3 3% FT 8 0T
715 TE / 50 FGT A T G0 | |
Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(v) QT F6 T 7 8 f5eeT 4 Fe) & IR T | T&F T 8 34 H & T
ST 15 5T / 150 Vieg) 7 IR g |/

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

() Y% QF & G FE i FHAR TF G & BIg |
Solve all the questions of a section consecutively together.
i) @ STIeT F S 817 @) T B S argar 8 A 8

Only English version is valid in case of difference in both the languages.

WA -
SECTION - A
1 () Tt o TR i h-gE d SiveR arelt T Heeld! 8
(a) TR TSATT (b) Wi Tomw
(c) TSI TSHTI | (d) TEENE §TRa
The road connecting capitals of states is known as :
(a) National highway (b) Provincial highway
(c) State highway (d) Express highway

'H"I: '
ﬁ , (1 of 4) ‘ P.T.O.
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(ii)

(iii)

(iv)

)

(vi)

TSH % T T I8 W 0T ITANT Ardrma g Reem Simar & 38 T SeT Jar e ?

(2) IAAT (b) HARIREBR

(c) ureXunt (d) TEESE AR

The portion of the road surface which is used by the vehicular traffic is known as
(a) Carriage way (b) Right of way

(c) Motor way (d) Express way

TS & TIY-H1Y 34 AT & I3W AT Fed Y e HEeTd & |
(a) @& (b) =R

(c) el e (d) el 33

The rate of rise or fall of a road along its alignment is known as
(a) Gradient (b) Camber

(c) Side slope (d) Super-elevation
LR.C. g HiHe Hshie Teeh & for sranfera heam @

(a) 1in40 (b) 1in50

(¢ 1in10 (d 1in20

As per LR.C. the camber on cement concrete road should be

(a) 1in40 (b) 1in50

(¢) 1lin10 (d 1in20

mmmwwmﬁ%%qﬁmﬁamﬁgﬁww%%&ﬁﬁa@m
T R, & T H T T R

(2) g forg wiemor (b) THTH /TR T

(c) IgMar g (d) gersiteran gdeo

The test to find out the temperature at which the bituminous attains a particular
degree of softening is known as

(a) Softening test (b) Flash point test

(c) Viscosity test (d) Solubility test

W firetrar W wre weror fhn s 8

(a) e (b) o

(c) TaYSH g (d) e AT

Abrasion test is carried out on aggregates to find :

(a) hardness (b) toughness

(c) crushing strength (d) water absorption
(vii) aﬁﬁﬁaﬁzﬁmmﬁmwm%

(a) WA (b) HEEH I

(c) Had T ) "B

The top most layer of flexible pavement is known as

(a) Base course (b) Sub-base course

(c) Surface course (d) Sub-grade
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() R R I (b) TATEW
(© A 3 (d) Eﬁé IR
The rail whose head and foot have the same dimension is known as

(a) Dumb bell / Double headed rail (b) Bull head rail
(c) Flat footed rail (d) None of these

(iX) & H N FHRATA@IE ? |
(2) TE-F HIHAHA F foQ (b) AFTA g&TaT % fIT

(c) SeTe o I % forg (d) fufa s w & forg
Why are rails tilted ?
(a) toreduce wear and tear (b) for cost efficiency
(¢) for manufacturing ease (d) to keep them in position
x) FEidsREHICHaeHTE R ?
(@) fr b) ®
© = @
Which of the following is not a component of rail ?
(a) Ballast (b) Foot
(c) Web (d) Head (1x10)
e — ot
SECTION -B

2. (& UT 9 USH qn ArarEnd § Tl g9y |

Differentiate between railway and highway transportation. 3)
3. odi qft wwaw H Iw v |
Explain in brief sight distance. A3

4. g o gl & wer ke |

Write the types of Road construction material. A3)
5. Togfm & gu= qiiemr s ausmsy |
Explain penetration test of Bitumen. A3

6. TR ged W ity feooft forfaw |

Write short note on sleeper density. 3)
P.T.O.
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7.

10.

11.

12.

13.

14.

15.

Yot ararma W g & 3w feafe |

Explain the uses of ballast in railway transportation. 3)

o1 TG ) INTRE HW Tl §6T UeHh hA-HH A 8 7

What are main factors affecting railway alignment ? : A3)
TS TRAT TR 7
What is permanent way ? _ 3)
e — |
SECTION -C

T 1 TR IR | T e TR % 814 § 7 TR & e Hewh e |

Define crossing. How many are types of crossing ? Write main components of
crossing. 8

R %1 91 e & 7 9 § B-aH & Rt v F e vefia g ¢

What is the importance of railway ? In India what are the different types of gauges
used ? 3

ot & 2R, qher &1 R @ gofa Hifv |

Explain in detail the CBR test. )]
Tt srepm <t g gt =t ol <hif |

Explain different types of sight distances. 3)
Qftrst o5 Te e Tk T 3T THATST |

Differentiate between Horizontal curve and Vertical curve. ®)
e =g 1§ 7 o wfed wwem |

What is cant deficiency ? Explain by neat sketch. ®




